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1) What is your goal when solving equations?
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2) How to you move numbers to the other side of an equation when solving for x?
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Solve for 'X' No work = no credit!
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Write the next 2 terms in the pattern..
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a.Write the equation represented by the files.
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32) The sum of 3 consecutive numbers is 57. What are the numbers?
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Write your equation here:_X T 7Y\ YA+2. =57 = The 3 numbers are.. \%; 19,5 20

= g /
2 - ) 3 e
= - = X=1&.
22 = 3 x=\g 1 =i
2 > ] VA2 2 18+

34) Kelly is thinking of a number. Three less than 6 times a number is - 45.
Define your variable (unknown) D = nunbes”

Write your equation here: on->= =45
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Solve your equation to find the missing number. N ="1



36) Brandon mows lawns for $10 per lawn and his parents give him $40 per month for his
-llowance. Michael makes $15 per lawn mowed and gets $10 per month allowance.

Define a variable fipe
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Write an expression describing what Brandon makes per month: |00 +40

Write an expression describing what Michael makes per month: 1S n £ 1Q

Write an equation describing the number of lawns they each has to mow in order to make the

same amount of money for one month JOn #90= 1S n +/O Solve it below!!!
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How many lawns does Michael have to mow in order to catch up to Brandon? QQ@«J\S

37) Mr. Cotten's car broke down on the highway. Acme Towing charged $50 just fo come out
plus $30 for each mile they have to tow the car. If Mr. Cotten paid $224 to tow the car
all together, how many miles was it towed? :

Define a variable Mo\ Final Answer S. Bl
30 +20m = 224
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Write you own equation:
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Simplify and Solve:

38) Mrs. Veazey sold her iPod on E-Bay for $120.00. That was $20cves one fourth of what
she paid. How much did she omgmally pay? X= o r(énxi an
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39) The perimeter of a triangle is 82 feet. P=35, SR 2 TS5 S|

Worite an equation that can be used to solve for Xx. 6x-10
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Solve your equation to find the value of x. D= /O % — > <.
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Solve for the requested variable. Show your steps neatly!
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